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Instructions:

1. Attempt all questions.

2. Make suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.

4. English version is Authentic

Q.1

Q.2

Q.3

Q.3

(@) Answer the following.
1. Differentiate between shallow and deep foundation.
2. How the foundation is prevented from coming in to direct contact
with black cotton soil?
3. State the purpose of adding sand for preparation of mortar.
4. State the importance of bond work in brick.
5. Explain: lap joint in stone masonry.
6. State the function of concrete bed in wall footing.
7. What is pointing?
8. Differentiate: single Flemish bond and double Flemish bond.

(b) Do as directed
1. Define the terms: 1) key2) extrados3) intrados4) abutment.

2. Differentiate between: swinging door and revolving door.
3. State the scope of the pointing.

(@) What type of foundation would you propose for a multi storied
office building in a (1) very soft soil, and(2) Black cotton soil.
Describe briefly.

(b) 1. What are the factors governing the choice of most appropriate

type of foundation for a given structure?
2. What are the advantages of concrete piles over the other types of
piles?
OR
(b)  Describe grillage foundation in detail with neat sketches.
(a) 1. What are the types of joints used in stone masonry? Describe any
two with sketch.
2. What points are to be observed during execution of brick work?
(b)  1.State the various types of bonds and draw a sketch of 1", brick
thick wall in English bond.
2. Explain the following terms:1)Natural bed2)Through stone
OR
(@) 1. Compare stone masonry with brick masonry.
2. Write short note on :Ashlar masonry.
(b)  What is the significance of bonding in brick work? Explain by

sketches the difference between English bond and Double Flemish
bond.
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1. Compare: Load bearing structure and Frame structure.

2. What are the objectives of partition walls? State the requirement
of an ideal partition.

1.Give classification of arches according material. Explain any one
of them.

2. Write short note on: Hollow block partition.

OR

1.Draw a detailed sketch of a panelled door.

2. How the metal windows are being preferred to wooden window?

1. Write short note on ventilators.

2. Give reason: Revolving doors are considered suitable for air-
conditioned public buildings.

1.Differentiate between following: Pre-cast and cast in situ lintel.
2.Write explanatory note on: R.C.C lintel.
Describe the method of construction of an arch stage wise.
OR
1. What are the objectives of plastering? Name the various plasters
and mention the requirements of a good plaster.
2. Define the following: 1) blistering?) back ground3) cracking.
1. Describe the various types of pointing by means of neat sketches.
2. Write names of tools used in plastering.
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